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Roll No.........c.ceeenne.
Time allowed : 3 hours Maximum marks : 100
Total number of questions : 7 Total number of printed pages : 7

NOTE : 1. Answer FIVE Questions including Question No.1 which is compulsory. All
working notes should be shown distinctly.

2. Tables showing the present value of ¢1 and the present value of an annuity of
¢l for 15 years are annexed.

1. Comment on the following. Attempt any four :
(i) Management makes use of ratio analysis to work out the liquidity as a decision criterion.

(i) "Modigliani—Miller theory amplifies that value of the levered firm is same as value of
the unlevered firm." Under which circumstances this proposition can be proved.

(iii) Movements of the business cycle influence working capital changes at significant level.
(iv) Payback period is suitable to measure liquidity of a project rather than its profitability.

(v) Since there is no explicit pay-out from the retained earnings, it has been argued that
there is no cost.

(5 marks each)

2. (@ Following data of Anant Ltd. is given below :

Total sales (units) 14,500
Selling price (per unit) <20
Fixed costs 328,000
Variable costs (per unit) 14
Debt (@ 11% interest) %1,00,000
Equity shares (face value ¢10 each) <2,00,000
Tax rate applicable 30%
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Calculate the following —
() How much would be the sales, earnings and interest ?
(i) If EBIT doubles, what will be the new level of EBT ?
(i)  What are the operating and combined leverages ?
(8 marks)
(b) The share capital of Vivaan Ltd. consists of 6,000 equity shares of Y100 each. Its average

profit is ¥48,000 and tax rate is 30%. Compute earnings per share (EPS) and dividend
per share for Vivaan Ltd.

What will be the earnings per share and dividend per share, if the company raises
<2,00,000 through issue of 10% debentures ?
(6 marks)

() Determine the value of both call option, and put option, on expiry of the stock of Kiwi
Ltd. from the following information :

— Exercise price 31,020
— Spot price on exercise date ranges between I990 and ¥1,040 with interval

of %10.
Also state what will be the action on the above range of prices for both the options.
(6 marks)
3. (@ Determine weighted average cost of capital using market value weights :
Book value structure ¢
Debentures (Y100 per debenture) 8,00,000
Preference shares (Y100 per share) 2,00,000
Equity shares (Y10 per share) 10,00,000
20,00,000
Market prices of these securities are : -
Debentures : <110 per debenture
Preference shares : 120 per share
Equity shares ; 22 per share

Based on externa investment opportunities, the expected return on such debentures,
preference shares and equity shares have been determined at 6.84%, 14.62% and 16.10%
respectively.

(6 marks)
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Sona Ltd. manufactures a product which has a weekly demand of 2,500 units. The product
requires 5 Kgs. of material for every finished unit of product. Material is purchased at
104 per unit. The ordering cost is ¥200 per order and the carrying cost is 10% per
annum.

Answer the following —
(i) Calculate economic order quantity. Assume 52 weeks in a year.

(i)  Should the company accept an offer of 3% discount by the supplier who wants
to supply the annual requirement of the material in five equal installments ?

(8 marks)

Ravi buys 10,000 shares of Fun Ltd. at ¥22 each and obtains a complete hedge of shorting
400 Nifties at ¥1,100 each. He closes out his position at the closing price of the next
day at which point the shares of Fun Ltd. has dropped 2% and the Nifty future has
dropped 1.5%. What is the overall profit or loss of this set of transactions ignoring cost

of transactions ?
(6 marks)

Distinguish between the following. Attempt any four :

'Financial structure' and 'capital structure'.

'‘Operating lease' and ‘finance lease'.

'‘Support level in technical analysis and 'resistance level in technical analysis.
‘Originating role of treasury manager' and 'supportive role of treasury manager'.

‘Speculative motive of holding cash' and 'contingency motive of holding cash'.
(5 marks each)

Grapes Ltd. has 8 lakh equity shares outstanding at the beginning of the year 2014.
The current market price per share is I120. The Board of directors of the company
is contemplating I6.40 per share as dividend. The rate of capitalisation appropriate to
the risk-class to which the company belongs is 9.6%.

Answer the following —

(i) Calculate the market price of share of the company, when the dividend is

declared and not declared.
(3 marks)
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(i) How many new shares are to be issued by the company, if the company desires
to fund an investment budget of I3.20 crore by the end of the year assuming net
income for the year will be ¥1.60 crore using Modigliani-Miller approach ?

(5 marks)

(b) Apple Ltd. has decided to invest in earth-moving equipment. The equipment costs
35,50,000. The company can take it on lease for 7 years at ¥90,000 per annum payable
in advance. Alternatively, it can borrow at 20%. The asset can be written-off over 6
years under straight line method of depreciation and thisis allowed under tax. The asset's
useful lifeis 7 years. In the terminal year the asset will be sold for a net value of I40,000.
The applicable tax rate is 30%. Should the company borrow for buying the equipment
or take it on lease ?

(8 marks)
() Following information is made available :
Spot rate for US $1 366.0123
180-day forward rate for US $1 366.8190
Annualised interest rate for 6 months — Rupee 12%
Annualised interest rate for 6 months — US $ 8%
Explore arbitrage possibility.
(4 marks)
6. (@ A company has prepared its annual budget, relevant details of which are reproduced
below :
Sales (1,56,000 units) : 93.60 lakh (25% cash sales and balance on credit)
Raw material cost . 60% of sales value
Labour cost : 6 per unit
Variable overheads : 1 per unit
Fixed overheads : 10 lakh (including ¢2,20,000 as depreciation)
Budgeted stock levels . Raw materials : 3 weeks

Work-in-progress : 1 week
(Material 100%, labour and overheads 50%)
Finished goods : 2 weeks
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Additional information :
— Debtors are allowed credit for 4 weeks
— Creditors allow 4 weeks credit

— Wages are paid bi-weekly, i.e., by the 3 week and by the 5" week for the
1% & 2" weeks and the 34 & 4™ weeks respectively

— Lag in payment of overheads : 2 weeks
— Cash-in-hand required : ¥1,00,000
Prepare working capital requirement for the company. Assume 52 weeks in a year.
(210 marks)
(b) Simond Ltd. is considering two mutually exclusive projects. Investment outlay of both

the projects isI5 lakh and each is expected to have alife of 5 years. Under three possible
situations, their annual cash flows and probabilities are as under :

Cash flow (?)
Stuation Probability Project-A Project-B
Good 0.30 6 lakh 5 lakh
Normal 0.40 4 lakh 4 lakh
Worse 0.30 2 lakh 3 lakh

If the cost of capital is 7%, which project should be accepted ? Consider the risk parameter
also in decision making.

(10 marks)

7.  Write notes on the following. Attempt any four :
(i) Services provided by venture capital fund
(i) Ingredients of project appraisal
(iii) Advantages of FOREX trading
(iv) Importance of debentures
(v) Stable dividend policy.
(5 marks each)

e
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